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SECTION A (NON ESSAY TYTE)

Multiple Choiee Questions/Fill in the Gap Questions/ True or False Questions. 60 Questions at 1/2
(0.3) mark each.

Total Marks for Section A: 30 Marks

SECTION B (ESSAY TYPE)

Written essavs, definitions, deseription of concepts etc. 4 Questions, answer 3. 10 Marks cach.
Total Marks for Section B: 30 Marks

TOTAL MARKS FOR EXAMINATIONS: 60 MARKS.

Instruction: Answer all questions in Section A and Three in Section B. Study the map of

GITATA and use it to answer Questions 1-20.

1. The distance from Rafin to Gidan Oji “as the crow flies” is (a) 15km (b) 7km

(¢) 3.5km (d) 8km

5 The scale of the map in statement form is (a) 1cm on the map represents 1km on
the ground (b) 1¢cm on the map represents 14 km on the ground (¢) lcm on the map
represents 2km on the ground (d) lcm on the map represents 3km on the ground

3. The drainage pattern on the map is (a) Dendritic (b) Centripetal (c) Radial (d) Annular

4. Which of the following is the most important town in the mapped area? (a) Rafin

(b) Gidan Audu(c) GITATA (d) Oji
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Which of the following settlement have Dispensary (a) Rafin (b) Gitata (c) Gidan Of
(d) Ankara

The likely occupation of the inhabitants of Luki is (a) Farming (b) Mineral working

(c) Lumbering (d) Fishing
If the map of GITATA is reduced to half of its original size, the scale will be
(a) 1:50,000 (b) 1: 100,000 (c) 1: 200,000 (d) 1: 150,000

The settlement of Gitata is more important than Luki because of the presence of a

(a) School (b) Court house (c) Rest house (d) Farming

The sign BM mean what in the map areas (a) Boundary Marks (b) Bench Marks
(c) Boundary Pillar (d) Bench Markets

Which part of the map has the lowest elevation (a) North West (b) North East?
(c) South West (d) Eastern Part

The longest road in Gitata settlement is (a) Main road (b) Secondary road

(c) Minor road (d) minor paths

The South Western part of the mapped area is suitable for (a) Lumbering (b) Mining
(c) Fishing (d) Animal rearing

The vertical interval of the map is (a) 50cm (b) 50m (c) 50ft (d) S0mm

The area of GITATA is approximately __ km? (a) 248.06 (b) 992.25 (¢) 63 (d) 31.5
What is the bearing of Andam from Luki (a) 60° (b) 240° (c) 150° (d) 30°

What is the bearing of Luki from Andam (a) 60° (b) 30° (c) 50° (d) 1500

What is the direction of Andam from Luki (a) NE (b) SE (c) NW (d) SW?
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